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Note:	 The question paper is divided into three sections A, B and 
C. Write answers as per the given instructions. Use of non - 
programmable simple calculator is allowed in this paper.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE& Bg àíZnÌ ‘| Zm°Z-
àmoJ«m‘o~b gmYmaU Ho$ëHw$boQ>a Ho$ Cn¶moJ H$s AZw‘{V h¢&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 Give answer of the following questions:
	 {ZåZm{b{IV àíZm| Ho$ CËVa Xr{OE&
	 (i)	 What do you mean by ‘Decentralized Planning’?
		  "{dHo$pÝÐV {Z¶moOZ' go ³¶m A{^àm¶ h¡?

	 (ii)	 Explain ‘trickle down effect’.
		  [agmd à^md H$s ì¶m»¶m H$s{OE&

	 (iii)	 Define Green revolution.
		  h[aV H«$m§{V H$mo n[a^m{fV H$s{OE&

	 (iv)	 What is infrastructure development?
		  g§aMZmË‘H$ {dH$mg ³¶m h¡?

	 (v)	 What are conventional and nonconventional sources of 
energy?

		  D$Om© Ho$ naånamJV Ed§ J¡a naånamJV ómoV ³¶m h¡?

	 (vi)	 What is LPG policy?
		  Eb. nr. Or. Zr{V ³¶m h¡?

	 (vii)	What is GATT?
		  OrEQ>rQ>r ³¶m h¡?

	 (viii)	Define Immigration.
		  AàdmgZ H$mo n[a^m{fV H$s{OE&

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&
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2)	 Write a short note on Ricardian theory of economic 
development.

	 [aH$mS>m} Ho$ Am{W©H$ {dH$mg Ho$ {gÕmÝV na EH$ bKw {Q>ßnUr H$s{OE&

3)	 What are the relationship   between Indian planning and 
development?

	 ^maVr¶ Am¶moOZ Ed§ {dH$mg ‘| ³¶m gå~ÝY h¡?

4)	 Why decentralized planning is required for a large nation like 
India? Explain.

	 ^maV O¡go EH$ {demb amîQ´> Ho$ {bE {dHo$pÝÐV {Z¶moOZ ³¶m| Amdí¶H$ h¡? 
g‘PmBE&

5)	 Explain the following: / {ZåZ{b{IV H$mo g‘PmBE&
	 (i)	 Average Capital - Output ratio (ACOR) 
		  Am¡gV ny§Or CËnmX AZwnmV (ACOR)
	 (ii)	 Incremental Capital Output ratio (ICOR) 
		  d¥{Õerb ny§Or CËnmX AZwnmV (ICOR)

6)	 Explain the various effects of education on agricultural 
structure.

	 H¥${f g§aMZm na {ejm Ho$ {d{^ÝZ à^mdm| H$mo ñnîQ> H$s{OE&

7)	 Write the effect of population growth rate on per capita income.
	 à{V ì¶p³V Am¶ na OZg§°»¶m d¥{Õ Xa H$m à^md {b{IE&

8)	 Describe the various factors which cause consumption and 
income disparities in India.

	 ^maV ‘| Cn^moJ VWm Am¶ H$s Ag‘mZVm Ho$ {bE CÎmaXm¶r H$maUm| H$m 
CëboI H$s{OE&

9)	 Explain briefly land reforms in India.
	 ^maV ‘| ^y{‘ gwYma H$m¶©H«$‘m| H$s g§{jßV ì¶m»¶m H$s{OE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Examine the development of infrastructure in India after 

independence.

	 ^maV ‘| AmOmXr Ho$ ~mX g§aMZmË‘H$ {dH$mg H$m narjU {b{IE&

11)	 Discuss the reasons of unemployment in India. Give suitable 

suggestion to resolve this problem.

	 ^maV ‘| ~oamoOJmar Ho$ H$maUm| H$s {ddoMZm H$s{OE& Bg g‘ñ¶m Ho$ hb hoVw 
Cn¶w³V gwPmd ^r Xr{OE&

12)	 Examine the trends and problems of Industrial development of 

India.

	 ^maV ‘| Am¡Úmo{JH$ {dH$mg H$s àd¥{V Ed§ g‘ñ¶mAm| H$s ì¶m»¶m H$s{OE&

13)	 Examine the Lewis Model of the unlimited supply of Labour.

	 l‘ H$s Agr{‘V ny{V© Ho$ bwB©g ‘m°S>b H$m narjU H$s{OE&


